Q.P. Code :08668

[Time: 2% Hours] [ Marks:75]

Please check whether you have got the right question paper.

N.B: 1. All questions are compulsory.

2. Figures to the right indicate full marks.

Q.l Answer the following (any 2) 15
a. Explain the social and economic significance of insurance.
b. Define Insurance. Explain the need of insurance.
c. Distinguish between insurance and gambling.

Q.2 Answer the following (any 2) 15
a. Explain the principles applicable for fire insurance.
b. Explain in detail the insurable interest with reference to life, fire and marine insurance.
c. Explain briefly the principle of indemnity with reference to fire and marine.

Q.3 Answer the following (any 2) 15
a. Explain the process of risk management
b. Risk management is essential for every business. Discuss.
c. What is importance of risk management information system?

Q.4 Answer the following (any 2) 15
a. Explain the code of conduct for insurance third party administrator.
b. What are variousinsurance intermediaries?
c. Write a note on insurance agent.

Q.5 A Fillin the blank and rewrite the sentence. 5
A, (Yo LR, assists in purchasing the insurance policy. (Agent/ Surveyor/ TPA)
b. Loss of stockisa........c..... risk. (Fundamental/ speculative/ particular)
c.  ‘Insuranceis a contract of.........c......... (proximate cause/ indemnity/profitability)
d. In .. insurance the insurable interest should exist only at the time of taking the claim.

(life/ fire/ marine)
2, U lnel G can sell policies of various insurance companies. (insurance agent/ surveyor/ insurance
broker)
B  State whether the following statements are true or false. 5

a. Fundamental risk is related with loss due to earthquake only.
b. Insurance agent license is valid for 5 years.
c.  Principal of mitigation of loss is applicable to life insurance.
d.  Surveyor is involved in providing services regarding issue of insurance policy.
e. Insurance is a tool for mobilization of savings from government to public.
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C Match the pairs and rewrite the sentence.

Group A Group B
a. Proximate cause a. Possibility of gain
b. Insurance agent b. Draught
c. Indemnity c. Compensation of losses
d. Speculative risk d. Multiple reasons for damage
e. Fundamental risk e.250 hours training

f. Services to policy holder
g. Business loss
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Please check whether you have got the right question paper.
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